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I
avsY—+I ock=18N/mmi, &/NE=50mm ni 1,046.3 581.8 464.5 1046.3
[l g ,
B 7k T = RRBEK (FR7 7 RR) n 5,553.9 2,025.9 1,961.2 1,566.8 5553.9
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ALBEA HEEERITTLORE (BRE 4 —) - 0.500 m
POIEHIEl HfEEBEZIT b RE (Bt &%2—) - 0.518 m
s E (BBt 4 —) 271.557 m
BEECL LR e RN
(m) (m) (n)
ALEEEET] b s
~ 1.100 7.250 7.98
FERISREL K AE &
e
~ 272.136 7.150 1,945.77
SRBLHEAIR &
Z RISAELR =
~ 0.357 7.250 2.59
PSS T 5 i
HEmME st 1,956.34
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BT H EAYER (270.17 + 272.944 ) x 0.040 = 21.725 m
BEBEAARLL EAYE (7.250 + 7.509 ) x 0.040 = 0.590 m

BhKT (v—+%) EE 3 2,025.901 nf

@ HEKERMERE (HEKFIE/KE ¢18X5 X7 > LX)

B M = 270.170 m
BEEA M 7.250 + 7.509 = 14.759 m
HKEMERE (BEKAEKE ¢18Xx5 X7V LX) R &t 284.929 m

X PEKERMERE (BEKRASKE ¢18X5 X7 LX) 1 HKII00m Y ER

RE IERASE
2L =284.929 + 512.942 + 420.164
Bk T EiEREET

2 A =2,025.901 + 1,961.240 + 1,566.808

Br7K T 100mH7- W iER

L =(1,218.035 + 5,553.949) x 100

1,218.035 m

5,553.949 m

21.931 m/ioori
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PRI FEET] it
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A RIS HE K AR
F RSB A
~ 11.273 7.150 80.60
IS HE K AR
ERISREHE KR =
~ 248.674 7.150 1,778.02
BB
PO #EEIT & i
~ 0.407 7.250 2.95
P5 (AR T i
EmiE 5t 1,863.62




(BEAEAR

(P5~P9 ) ®
@A 7Y —bF (oc k=18N/mm, &=/NE t=50mm)
Al~P5EMEHR (BBt X—) 259.600 m
POIBHIEI HiEEERIT boEE (Bt % —) - 0.518 m
POIBHIEI HiEEERIT boEE (Bt 4 —) - 0.518 m
AEICIY—bER (BB %—) &t 258.564 m
A =(1.125 x 2) x 258.564 = 581.769 m
V=1{1/2 x (0.050 + 0.0725) x 1.125 x 2} x 258.564 = 35.68 m
FEiE t = 35.68 + 581.769 = 0.0613 = 6.13 cm
X 1m¥7-v
V = (35.68 +28.49) + (581.769 + 464.528 ) = 0.061 mi/mi
2 {5mEpHKI
DO BHAKI (—+FR)
EHAE I 258.564 + 7.250 = 1,874589 m
SHBIHEARGE T BB (257.875 + 246.872 ) x 0.1295 = 65.365 m
B AR L EAY I 258.564 x 2 x 0.040 = 20.685 m
EaEA AR b EAYE (7.509 + 7.506 ) x 0.040 = 0.601 m
kT (>—b%R) EE 3 1,961.240 m
@ HEKEBMERE (HEKABKE ¢18x5 R 7 L R)
& ) 258.564 + 246.872 = 505.436 m
&S A 75 A = 7506 m
BEKEBMERE (BEAKAEKE ¢18x5 XRTFv LX) R 3 512.942 m




(BEAEAR

(P9~A2) @

1 EmEiEET

OEBT (BHEAs (13) t=40mm)

PO~A2ZfEMTR (Bt & —) 207.475 m
POFEHIEAI HiEEBERITbaRE (Bt % —) - 0.518 m
A2IB L) HEEERITT b ORE (Bt 4 —) - 0.500 m
HERER Bt &—) 206.457 m
ECL AN HEME
(m) (m) (m)
PO RIRET] b e
~ 0.282 7.250 2.04
SREHE KR &
I
~ 206.236 7.150 1,474.59
SRBIHEAIR &
SMELHE AR S
~ 1.975 7.250 14.32
A2{BI a4 1T B i
HEmE Bt 1,490.95

3b



(BEAEAR

(P9~A2) @

@A 7Y —bF (oc k=18N/mm, &=/NE t=50mm)

PO~A2ZfEMTR Bt & —) 207.475

m
POBHIA HifEEBER T baEE (Bt &%—) - 0.518 m
A2IEHIE) HEEBERIT b ORE (Bt 4 —) - 0.500 m
FAEIV I/ —-FER GBEEYE&—) &t 206.457 m
A =(1.125 x 2) X 206.457 = 464.528 nt
V={1/2 x (0.050 + 0.0725) x 1.125 x 2} x 206.457 = 28.49 m
FHE t = 28.49 + 464.528 = 0.0613 = 6.13 cm
2 {5mEpHKI
DO BHAKI (—+FR)

b g (207.428 + 205.486 ) /2 x 7.250 = 1,496.813 ni
SMBIHEAKGE T ER (205.171 + 203.229 ) x 0.1295 = 52.888 mni
BE A EAYE (207.428 + 205.486 ) x 0.040 = 16.517 i
EEmEsAETL EAYE (7.506 + 7.250) x 0.040 = 0.590 nf
BhAKT (— %) EE 3 1,566.808 nd

@ HEKERMERE (HEAAAEKE ¢p18xX5 X7 LX)
Bl m 207.428 + 205.486 = 412914 m
EHE A A = 7.250 m
BEKERMERE (HEKBAEKE ¢p18x5 X7 LX) R 5t 420.164 m
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1. A2HBEHREEFHEK
T il i pall i 2Ll B XA ¥ & ]
BB R
av 7 Y—Fk o ck=24N/mm” ¥ 17. 14
B B i 5.84
g M L D29~D32 SD345 kg —
D16~D25 SD345 kg 1683
D13 SD345 kg 629
D10 SD345 kg 8
& @ SD345 kg 2320
SRV 200 X 20 m” 1.43
HoOR SGP40A kg 11
Fyv/ PL ¢ 60X 3. 2 kg 1
B i # LRI (ONEN £=20mm n’ 4. 87
VLR REN t=10mm n’ 1. 50
FeHA R filbt n’ 0. 003
FEABHIES | iE20mm X % & 40mm m 7.2
5 10mm X ¥ S 40mm m 4.6
oM T t=15cm m” 39. 41
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i il [ K O B E G ¥
15, BSEMR
(1) avp)-h (o ck=24 N/mm®)
6.000 x  7.140 x  0.400 17.14 o’
Vv 17.14
(2) M (3.720 + 3.720 ) x  0.400 2.98
7.140 x  0.400 2.86 n’
A 5.84 o’
(3) &L (SD345)
D16~D25 1683 kg
D13 629 kg
D10 8 kg
& 3 2320 kg
(4) =17 (200 X 20)
A = 0.200 x 7.140 1.43 o’
(5) WA (SGP40A X 200)
woo= 3.8 % 020 x 14 11 ke
©) Tvh—=%xy7° (¢60x3.2)
W = 0.060 x 0.060 x 0.0032 x 7850 x 14 1 kg
(7) HHikp (BHAEFTEMA  t=20mm)
A = (0.38 + 0.300) x 7.160 4.87 o’
(FtIE%E /AR t=10mm)
A = 2,280 x 0.329 X 2 1.50 o’
YA 6.37
(8) FELEP) bt ( /4 X 0.0416 "% 0.200
—  x/4 X 0.022 % 0. 150 ) x 14 0.003 n’
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(C Sl me K O B %

(9) AR H#F

T 20mm X EE 40mm L = 7.2

T 10mm X EE 40mm L = 4.6
(10) iz T t=15cm

5.520 X 7. 140 = 39. 41

=| 39.41

(11) ARpEgEiE A =| 39.41




